T&S FAUCET PARTS

#50408 (BL-5700-08)

hTWON =

#69770 2.2 GPM Female Aerator 9 #56809 Swivel Sleeves (2)
#82038 3/8" MIP CP Serrated Tip w/ Washer 10 #80207 O-Ring
#69782 Washer for Serrated Nozzle 1" #69771 Anti-Rotation Star Washer
#66877 5-3/4" Swivel Gooseneck Spout 12 #53232 Swivel to Rigid Adapter
wi 2.2 GPM Aerator 13 #52785 Rigid to Swivel Adapter
#02295 2-3/4" x 8-3/4" Rigid Gooseneck Spout 14  #68546  N/S RH Check Stem & Barrel Assy w/ Bonnet
#02297 5-1/2" x 11-1/2" Rigid Gooseneck Spout
#02298 5-1/2" x 12-1/2" Rigid Gooseneck Spout | 15~ #S6755NS New Style Cross Handle
#02300 2-3/4" x 4-1/2" Swivel Gooseneck Spout 16 #71357E 10-32 x 1/2 Pan Head Handle Screw
#02302 5-3/4" x 10-3/8" SW!Vd Gooseneck Spout 17 #65794NS New Style Green Index (Cold Water)
#02303 8-3/4" x 11-3/4" Swivel Gooseneck Spout
- - 18 #65795NS New Style Red Index (Hot Water)
#69781 CP V/B Swivel Spout w/ Serrated Tip :
— 19 #69780 Deck Plate Plastic Gasket
#82037 5-5/8" x 8-7/8" Rigid V/B Spout
#86749 8-5/8" x 8-7/8" Rigid V//B Spout 20  #02274 Body Washer
#68915 5-5/8" x 9-1/8" Swivel V/B Spout 21 #02275 Brass Lock Nut
#57052 Swivel Washer 22 #56687 18" Flex Supply Hoses (2)

Pittsburgh: 412-781-9100 TMS) EQJIPAFITS © 2019 Toll Free: 800-442-6622



